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(1) Solve the equation
e sin(y)—2x+(e* cos(y)+ 1)y =020%)

(2) Solve the equation
V'+2y" =3y =8¢", y(0)=4, y'(0)=-6 (20%)

(3) Compute the complex Fourier integral representation of f{x). (20%)

e forx=0
fx)=5 = ,where a>0.
e™ forx <0
(4) Solve the problem
6‘3) = Oy for -oco<x<wo, >0,
ot” ox’

y(x,0) =4e =M for - 00<x <00, (20%)

Ox
—(x,0)=0.
8t(x )

(5) (i) Find the Laurent expansion of cos(z)/ z’ about zero. (10%)

oy 1 cos z
(i1) Evaluate C_f =3
A

V4

where 1" is a closed path enclosing zero. (10%)




